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mequesﬁonfrom‘tmzs.fouropﬁmsmgm One of them kﬁuw!anm.
Make your choice (1, 2,3or4}wmademmrébﬂiq0p§caimmer6h¢at ..

(56 marks)

1. Max has a medical condit_loh. He has fungus growing on his feet.

fungus growing
on feet - i

The doctor advised Max to wear slippers instead of covered shoes as - .

T
{1)  there will be no trapped air for the fungus to grow: |
{2)  water from his sweat will evaporate faster from his feet .
(3)  more water vapour will condense into water droplets on his feet |

# aﬂ'ﬂmdngmrmghhis!eetwﬁmakeﬂaetempermmomﬁfqme
fungus io grow '

2. The diagram shows a bulb,

3 o, |
The table shows the properties of some materials.. - |
Which material is most suitable for making part A of the bulb? |

Material ' Characteristics =~ | |
¢ Soft : i
1) A * Alilows some light to pass through
= Poor conductor of eleciricity i
® 8 * Does not allows ight 1o pass through b
* Poor conductor of electricity :
s Hard -
3) c = Alows most fight to pass
.= Poar conductor of electricity :
s Hard ' |
@) 0 * Allows some light to pass through ' '
= Goad conductor of electricity

ALS {Junior} P& SA 2021
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3, Study the human organ systems.

System X
Which statements are true?
A System X provides the body with support and shape.
B Systern Y transposts oxygen from system X to alf parts of the body.
€ A substance s transporied from system Z Lo all parts of the body by system Y.
D System Y lransporis only water and mineral saits from system Z o all pants of

the body.

(1) AandBonly
(2} BandConly
{3) A CandDonly
{4) B.CandDonly

4 lan set-Lp avexperment g5 shown,

beaker of blue
coloured water

Afier two days, lan observed that the leaves and flowers of the plant were stained
Bie, WHch sigtemant expiains Tis abserva 657 '

(1)  Water-carmying tubes are present in the leaves and flower anly.

{2) Food made in the leaves are transnorted to all parts of the plant.

(3} Food-carrying tubes transported the biue coloured water up the stem to

ak parts of the plant.
{4) Water-carrying tubes ransported the biua coloured water up the stem o
akl parts of the piant.
ACS (Jumior) P8 SA 2021

www.testpapersfree.com



BP-159

4
5. Josiah placed a mouse in a seazed tank for six hours.

Md%ﬂmmmmmmmwumeﬁmmmm

|
|
|

gases in the tank afler six hours?

¢ the same _ more ! less |
) more less thesame |

{3 less ; mone B i the same

@ " Tmore i less more.

The same amount of biood was taken from A B, Cand D.

Which graph shows ' the correct compansion of the amount of carbon dioxide il the blood
samphas? S

{1) Amount of carbon dioxide {2) Amount of carbon dioxide

> 5 Biood sampla A 5 Blood sample
(3) Amount of carbon dioxide #)  Amount of carbon dioxi

—Blood sample S | '
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7.

Question B>

skin cedl roct cefl

wrﬁchwaw)rremntsmhmda?

Question A ' Question B r
(" "~ poes it have chioroplast? Does it have 2 call wall? i
(2) . D;;s it have; cell wall? N _ Does it have chloroplast?
(3) Does it have a cell membrane? | _j Does it have & nucieus?
4 Does it have a nucleus? Doss it have a cell membrane i

8 Ji Heng wanted to find out it objects, A, B, C, and D, were electrical conductors.
He set up the circuit shown,

|
i

il
>
m
3
o

)
¥

Ji Heng recorded what happened to the bulb when cenain abjects wers ramaved

from the cﬁtyit.
Objectis) removed from ciecuit | Did the butb fight up? |
_' A Yes |
i Band C Yes
| ABmac
Al e =040 ta

Which abject(s), A, B, C and D is/are conductors of electricity?

() Aoy s || ey §
() Bony

39) AandCanly

t4) B CandDonly

ACS {urior) P8 SA 2021
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8. David conducted an experiment by adding bulbs to two similar circuits as shown,

battery

Circhit A Gircuit B I
|

He kept adding identical tuibs t0 each circuit unti the bulbs in circuit B &nd not
fight up anymore. He recorded his nbservation in the graphs as shown. |

Brightness | Brighiness
of buib of buth
! 1 ;
E ‘ |
i [
|
—# Number of 'S Numberof
buids bulos

Circuit A Circurt 8 |

How did David amange the bulbs .n each cireuit?

Circuit A Circuit 8 j
M Paralle Series i
@ Senes : Parafet i
(3) Paraliel Parafiel |
L) Series Series |

ACS (Junior} P8 SA 2021
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10,  Alvin placed a torchiight at the 1 cm mark and an object at the 4 cm mark of the
rater HS"Sh’d_WT!'."h shigtiow was c¢ast on the screén.

obiet
torchiight
7
. screen
-—-""""ﬁn
T T T 1 T 1T T 1 1 ] culeriem
0 4 2 3 4 5 6 F 8 © 10

Which of the following two combinations of the positions of the torchiight and
object will cast bigger shadow on the screen?

" Position of torchiight (cm) _____ Position of object (cm) i
A ¢ I —
B 1 3 ;
. C } 2 8 i
. D - s_
(' AandC
(2) BamC
e G > .
{4y AandD

11.  Ryan piaced an empty glass flask with a rubber stopper inio a hot basin of water as
shown in the diagram. After a while, Ryan ohserved that the rubber stopper popped out
of the glass flask.

Which of the foliowing correctly explains why the rubber stoppar popped
out?

(1)  The flask contracted.

{2) The airin the flask expanded.

{3) Tha hot water lost heat to the surroundings.

(4)  The rubber stopper gained hast and expanded.

ACS {Juror) PG SA 2021
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12. Brandon wanted to fest the heat conductivity of two materials. He used identical sized
rods made of different materials, A and B, and set up the experiment. |

a .

_ He racorded the time taken for the wax 10 melt completely on each rod in the

Rod

A B

Time taken {min) 8 30

H

Which is a betier material 1o sicre ice and the COTect resson for if?

{1)
(2)
3
(4)

13, Jake set up the experiment in the garden as shown in the diagram. Leaves A,B and G

table.

Material of Rod Reason |
A Rod A took a shorter time to melt the wax. |

A Rod A is a belter conductor of heat than Rod 8.

B ‘Rod B gains heat faster than Rod A. I
B Rod B Joses heat siowes than Rod A |

are wrapped tightly in a clear plastic bag so that no alr can enter Or escape..

Which leaves would be able to photasymthesise?

(1)  AandCeonly
{2) BandD omy.
(3} A BandConly
(4} A CandDonly
ACS {Janicr) P8 SA 2021
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A ball is released from point A.

. point A TS

Which graph Mﬂiedmnggs in the amount of potential energy of the ball a3
it rolls down the ramp? S C

(1} Polential energy (2) Potentiat energy

Distance travelted Distance travefied
along the ramp along the ramp

(3)  Poiential energy (4) Potential energy

. e _ —
semen B com o aiongtt’éramp— Wil along the ramp .

¥Kelvin comducted four-activities, A, B,C and D. He recorded the main energy
conversion(s} for each activity

Activity A ! Electrical Energy -» Heat Energy
Activity B | Electrical Energy - Kinetic Energy -
 Activity C F‘oteﬁﬁ'alﬁne:gy—).lﬁneﬁc&ne@y
Activity D | Potential Energy - Kinetic Energy -» Heat Energy |

Which of the following best represents activities A, B, C and D7

A B : C D’

(1) | Using an Turning 2 toy Rubbing your | Using an electric .
electric tan pinwheel hands together | iron ,
(2) {Tumingatoy - | Rubbingyour | Using an slectric.| Using an electic .. -
(3} | Rubbing your Using an siectric | Using an electric * Tuming a loy

{4) | Using an Using an electric Turning a toy | Rubbing your
electriclron  {fan i pinwheet - hands together -

ACS {Junior} P8 SA 2021
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16.  Alidid an experiment by placing a toy car. on.material X and held a maQnet under it as
shown. |
toycar |
|
magnet .
When Ali moved the magnet, the toy car moved in the same direction. |
What conclusions can be made based on Al's experiment?
A The magret was aliracled to material X. !
B The oy car is made of magnetic material. ;
€ Material Xis made of non-magnetic material. .
D Themagnehcfamaa@ngontheloymnsweak
(1)  AandBonly
(2) BandConly
(34 CandDonly
4} Aand Donly
|
7. Twobar magnets, A'and B, were brought close 1o each ofher as shown, |
|
|
|
| |
\ . |
e
Wh%amemedd&edmofhmagm&cfmmmwmaﬁwme
magnats were released?
i A : B |
{z;j — - —— |
(4 e e |
ACS (Juricr) PG SA 2021
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18.
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Which of the following statements aboul forces are rue?

A force is afoun of energy..

COoOVW>

(1) AandDonly
{2) BandConly
(3) A.Band Conly
4 B.CandDonly

A force can act from a distance.
A force cannot be seen but its affects can be fall,
Gravitational force and magnetic force are always pull forces.

Betty conducted an experiment using metat biocks of the same size but with differant
masses. She released the blocks from ramps with different types of surfaces as shown.

Set-up R

- c.arpeled surface

Set-up S

She wanted mmvesngatehowtmwedmofhemmpmmmm

bymemaMIMmsﬁﬁammW

Which pair of set-ups should she use for her investigation?

() PandQ
{(2) PangR
(3 QadR
(4) #and$S
ACS (Junior} P8 SA 2021
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12 '
-20. Carl took a walk In the eco-garden and recorded the nuriber of organisms he found
there. He then clagsified them into two groups, plants and animals.

! Piants 1‘ 7 Animels |
: i i 2 caterpiliars |
i 4 orchid planis ; 3butterfies
f' 2 manga trees d 3 dragonfiies '
f' 2 smhomfams E 2 water srais
; B I Sgwﬂmsnﬂs

chmanypopmatsonsofwganmd'dtmﬁndmshagardm‘?

h e :

2 7

{3} 8

{4} 23

21, Study the food web.

g +— Q@ +——— p U

Which animals are prey andéor predator?

| Prey Predator
M pRT S T u
(2) Q.RT S, T.U :
3) S.T.U QRTS | |
(4) Q.R T QRSTY , |

22 mmmmmmmofmmaame |

Characieristics -  Aniowie :

FOA R : E_ |

{Theaduthastreepawsofiegs. © No  © No — !
 Toyounglocks ke theadut. | ves | Mo N ||
The adult lays its eggs in W 1 No ; S 28 . Y;s_“‘; |

Wmﬂs}mmmMaw&sﬁgﬁﬁfe 7 I
{1} Aonly _ eyces |
{2y Conly :
{3} AangBonly
(8} BandConly

mm)mmmx
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23 Which siructural adapiations of the palar bear help it 10 copa with ihe gxtrame
iemperature of the emvimonment il kves in?

bltack nose

¢iaws on paws

(1)
()
(3}
{4)

smail ears

inyer of fat
under the gkin

thick fur

black nose and claws

thick furang layer of fal

small ear. black nose and claws
small aars. thick fur and leyer of fat

24 Tne diagram shows fruits from different plants.

mn
(2)
(3
(4}

w

&k s
‘:,‘:-" ‘;-*:;-;;-_;-_/:_"?
B c
What are the dispersal mathods of the fruits?

A ! TR TTTTITTTTET T
e el
e T e Sy
e

25 Alice placed a glass of water with ice cubes on a table and observed it for five
minutes. Which processes occurred during the five minutes?

A mefting
"B freezing

L condensation
{1) Aonly
(2) AandB only
{3} A and C only
4y A B8andC

ALCS (Junior) PE SA 2021
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26.  James drew the water cycle gs shown.
s

S S

Which of the following comectly identifies S, T and U?

s | T 0
(1) evaparation | tinywaterdroplels | lalls as snow
(2) cordensation waler vapour falls as  SNOW
{3) ~ evaporaton waler vapour  fallsas frain )
(4) boiting tiny water dropiels falis as rain .

27.  Jack filled two identical beakers with water and marbles as shown. He poured ail the
water and the marbles into large beaker.

water " marbies large beaker
\i‘ \\ F g
\ f i
! |
100cm’ chood 100cm’ |

What s the tolal voiume of the water and marbles in the large beaker and ihe
explanation for i{? ' !

Total
Volumse _
(1) 190 an® | The marbles displaced some of the water,

2 190 cm*® | The water displaced the air between the marbles, |
(@) | 200cn® | The water and the marbies are 100 om® each, |

4y 1 200em The water and merbles accupied space in the large beaker.

Explanation :

i
I

ACS (Jurior) PE SA 2021 L. 5
|
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28. The diagram shows various parts of the female reproductive system,

in which mndmmmmmmsnaww

() A
2 B
3 C
4 O
End of Bookiet A
ACS (hricr) PO SA 2021 -
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Forquwﬁmszstoﬂ.mm-mf&h#ﬁmd&

" “The riimber of miaiks avaitable is showr in brackets [ ]'at'the end of each question or pe

question.

29, mmwmmm,xwv.wamﬂm.

m .

{b) Maham.mmmwestmmaMMYWe

swalien, Explain why,

www.testpapersfree.com

TG0 on to the next page)
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- 30. Fishes absorp dissolved oxygen from the waler as the water passes through the

gills.

{a} Cther than absorbing dissolved oxygen from the water, state anothef function

of the gills.

[

{b} Explain how the many tiny structures of the gills help the fish get more dissolved

oxygen.

{1}

{c) Mrﬁmseiupanexpmmiasstmnmmedsagmmmdpmammmm
R and S, near the window,

dlear glass tank

Tank R

- Tank 3

After a few hours, Mrmobservedmmeﬁshmlankﬂsmmwwﬂeﬂw
ﬁshmmnkstammrmewamrmrface

Mercenck@edthatmepresemaofplantAnemdmefashsmmhew
Explain why.

45

T
|

ALS {Jurier) P8 A 2027
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41, The water slorage syslem comprises a water storage fank ang’s Girc which
ensures that wates-does not overflow from the tank. The buzzar will soumd-when the
tank is-simost fult so that water will-stop flowing into the tank from the inlet

battefies
copper rods 79 buzzer

metal sheet ~__|

wooden block o Sl fox

............

plastic storage tank

(a) Describe how the system works such thet the buzzer sounds when the tank is
almost full of water. {2}

(b) Without replacing or adding anything to the sysiem, suggest a change to the
sysiem so that the buzzer sounds when the water reaches height X. {1]

ACS (Junior) PS SA 2021 :
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|
(¢) Add a bulb to the circuit to indicate when the water storage tank is almost ful
of water. The bulb must light up without decreasing the loudness of the buzzer,

Draw in the part circuit diagram to show how you would connect thle bulb. "

{Ga on to the next page)
 SCORE

ACS {Junicry PG SA 2021
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32.  (a) Wnatistemperature? M

Two similar metal containers, A and B, were heated and the temperature of air in
each container was taken over a period of time. Container B was covered by a thick
layer of cotton with pockets of air.

container A

I

Thegraphshmﬁreresultsofﬂwexpeﬁnenl

temperaiure
of air {*C)
A
Iu:mtainerB
- WA
—> time
(B) Whydoesn@gsknﬁwmafa!mmeatakbest? (1}

{©) Some winter jackets are made with thick tayers of cotton. Explain how wearing
the jacket helps the person keep wam. [2}

. {Go on in the next page)

&
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33. Kelvin mnductedmexpmmerﬂusmgmesm*upasshewn l-bemleasedmetoy
car R from point A. . :

point B

(@) Toy car R moved past point B but was notabletoreachpointc, Expiain why. {1}

Keivin repeated his experiment with three other toy cars, S, T and U, andreoordad
the height resched by the toy car from point B in the table.

Toy car 5 Massof tay car @) He%m;ﬁ:‘; b’

s R o o .
s 30 | 7
: 5 s

o 0 | s

(b) mmamerd&mhupbemmemassofmemycarmdmm-gmreamed
By the toy car? | (1

;
|
{c) Without repiacing or adding anything te the set up, suggestamﬁerwaytoget
toy car R to reach point C. Expiamyowanswer 1]

PLS (Jumior) PE BA 2021
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34 As water from container M fiows into container N, it tums the waler wheel which is
connected to-a generator and a light bulb, The buib lights up after scme time,

e ] g ey
N '}z[ """"" et ’ ) opening

container M+
W water wheel fixed at a point.

height fight bulb

N e ey

container N generator

(a) Fill in the boxes 10 show the gnergy conversions. i}

-> -2 —>

energy energy anergy anergy Qmeratm)

-(water in container M)  {waterflowing out of {water wheel)
container M) J'

hest energy and |
light energy in |
hghtbulb |

{(b) State two changes that can be made to container M to make the water wheei

turn faster. [2]

_ _ (G o o the nexd page)

ACS {Jumior) PS SA 2021
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35.  Tony caried out an expeniment using a toy car. He woungd up the toy car, released it
and measured the distance travelied by the toy car. He repeated the axbermem en
different types of surfaces. A, Band C.

surface '
1
R LS LCRE TR >
distance trave!ied
by the toy car
(a)  What was the aim of Tony's experiment? ' {1}

(b) {her than the toy car. which twa other variables should he keep constant to
ensyre a fair test? {11

Tony recarded his tesults in @ table.

Dizstance travelieg by toy car (cm)

" Surface | 1 try 2% yry : Fuy
A .8 | 9 s
B 10 11 12 i
_ C 7 8 ‘ |7

{t}  Basedonthe results in the table, what can Tony concliude about surface C7
Expiain why. | ]

{Gaontuthenextpage)
SCORE | |
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36 Study the food chain in 2 habitat.

i0

[Aaaéc-)b]

{a}  Thegrephshows what happened when the popufation of organism D mmaased
identify the comract line graph for the popuiations of the different organiems and
write the fetters A, B, C and D in the boxes next to each line. [2]

Number of organisms

5  Time

(b)  Due to a disease that only affected organism C., there was 3 drastic decrease

in the population of C.

State two immediate effects to the other popuiations and explain why. ¥4

Effect 1

Effect 2.

ACS [Rior) P8 SA 2021
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13 | | |
B () Memtmoﬂwrfooddmﬁﬂenﬂmﬂ&same%asm

A>E2C->20D
A>E>BIE>CHD | |
ST -x i G 5 i

Construct a food web ising 4 tiree foad chains in thie box provided to show
the relationships amiing the organisms based on the food they eat. 0

{Gnmwmef:wenm;

ACS {hmioe} PS SA 2021
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47, The Egypitan plovers and crocodiles have a unigue relationship. The Egyptian plovers
will fiy into the opened mouth of the crocodiles to eat the food stuck in betwesn the
teeth of the crogodiles and then fly away. :

crocodie

(a)  State how the two organisms depend on ane another. {2

(b)  The rivers in Egypt are drying up. [n order to survive, the crocodiles move into
artificial water bodies ke dams which makes them closer 10 peaple. Peaple
nunt the crocodiies to protect themselves, as well as uss their meat and body
parts for medicinal use and food

Explain haw the continued hunting of the crocodies affect the population of the
Egyptian plovers over a peried of time. (11

{Go on to the next page)

3

ACS phavior) PS SA 2021
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38.  The diagrams show the Jife cycles of two organisms P and Q.

Organiam P Organism O |
{a)  State two differences in the ife cycles of organisms Pand Q. 2
Difference 1

(s3] ﬁmmm@ganmPusesimbreaibmgmwmmmrfmm
© % sumounding.
b _ }ayerofod

braathing tube

How wouldd sprayving a layer of o on the weter surface prevent organism P
from breeding? | {1}

|
(Go o to the next page)
SCORE

AL (lunics} PB SA 2021 ' |
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39 Sean classiied some animais using the flowchart.

-Armals -

|

T~

Does it have Yes
hair as an quler

cavering?

Is it warm-blooded?

Does it have
three pairs of
legs?

(a) Complete the flowchart by filling in the boxes with the correct animal groups. [2]

() Expia gin how having hair s an outer body covering is an advantage to an
animat that lives in a cold habitat. : 1.

{continue on the next page)

ACS tuniory P6 SA 2021
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i
{©) Anh‘nal)(hudcﬂetngﬁnrmbghﬂypaekedgmwsmnmmmwm
winds during a snrow storm.

Animal X -
smvironment? . i
|
I
{mmm:mpm)
O
ACS {Jusior} PS SA 2021 #
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40  The _diagrahn. shows the e cycle of _a_ﬂnweﬁnél.l':)lér}t.._ bow_
- Adut '
.....---' —— .. .
Seedfing plant Aduit plant
with flowers \
X -
Adult plant
with fruits
Y
Seed
{a)  What do letters X and Y represent in the life cycie of the flowering plant? [1]
X
4
The table shows the characteristics of three different flowers A BandC
s Are the petals | Does the lower Length of petals !
cotourful? | have a sweet scent? | {cm)
A Yes : Yes X 8
S : :
. B ~ Yes ' Mo 2 ;
g - No " Yes ! )
(b)  Which flower can best attract polinators? Explain your answer i1
fcontinue on the next page)

www.testpapersfree.com
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(c)  Study the flowers, A and C, as shown in the diagram.

mamMdeMCmmmeefmeﬂmmdﬁssﬁgmb
feathery and exposed. State how Fiower C is poiiinated. Explain why. 1

{Go on 10 the next page)
- SCORE

ACSE (hunior) PE SA 2021
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41.  While driving with the windows closed during his recent hofiday in winter, Ali noticed
that the windaws of his car had become misty, The temperature in the car was 22°C
and the fernperature of the sustounding air was 5°C

{a) mobsenﬁdmatwaw-dmpmhadfmnedmﬂwmnerswfaoeoﬁhew
windows. Explain his observation. 2}

(b) mmmasdmm.mam.mammm
forming on the inner surface of the other windows.

Expilain why the water droplets stopped forming after one of the windows was
wound down. )

www.testpapersfree.com
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ANSWER KEY
- YEAR ¢ 2021
LEVEL :  PRIMARY 6
SCHOOL : ACS (JUNIOR)
SUBIECT SCIENCE
TERM : MID-YEAR EXAM
BOOKLET A
Qi 2 Q2 3 Q3 2 Q4 4 Qs 4
Q6 4 Q7 2 Qs 3 Qs 1 Q1o |3
Ql1l 2 Q12 4 Qi3 4 _Q14 2 . Q15 (4
Qi6 |2 Q17 3 Qis |2 Q19 |2 |Q20 |2
Q21 2 Q22 2 Q23 4 Q24 3 1 Q25 3
Q26 3 Q27 2 Q28 1
BOOKLET B
Q29 | a) Leaves A and B. The water-carrying tube was cut at part X. So
- water absorbed by the roots could not be transported to leaves A
and B. Without water and food leaves A and B will dle
b) The food carrying tube at part Y was cut off. So the food made by
leaf C could get collected at the part just above part Y as the food
made by leaf € coutd not be transported below part Y and above
part X,
Q30 a) Remove carbon dioxide from the fish
b} With more tiny structures, there will be greater surface area of the
gills in contact with the dissolved oxygen in the water and hence
allow gaseous exchange to carry out at a faster rate hence helping
the fish get more dissolved oxygen.
¢} Plant A gives 02 during photosynthesis and fish to take in 02.
Q31 a) The metal sheet will rise and touch the copper rods. A closed
circuit is formed and electricity will flow through the circuit and
make the buzzer sound.
b) Lower the circuit till height X.
1) B

www.testpapersfree.com

BP-189



Q32

a)

).

c)

A measure of how hot or cold something is

To ensure that the difference in the increase of the temperature of

the air is-only due to the thick layer of cotton with pockets of air.
Air Is a poor conductor of heat so air in the thick layer of cotton
with pockets of air slows down heat loss from the person to
surrounding air.

Q33

a)

k)

Some of the kinetic energy of the car was converted to heat
energy and sound energy. Which does not aid in the movement of
the toy car R.

The greater the mass of toy car the greater the height reached by
the toy car.

Release toy car R somewhere higher than point A. To increase the
potential energy converted to kinetic energy.

Q34

Potential — kinetic — kinetic — electrical
Increase the size of opening to container M increase the height of
which container M is raised from the ground.

Q35

b}
¢}

To see how the type of surface affects the distance traveller by the
toy car.

The number of times he wound up the toy car.

Surface C caused the most friction between the wheels of the car
and the surface. |

Q36

b)

. BADC

Effect 1: decrease in the population size of D as there is less C for
D to prey on and hence less food for D.

Effect 2 : B will increase in population size. Thus will be less Cto
prey on B and hence there will be more B.

F
2N
A — 8 ey C -]

x//‘

Q37

b)

The Egyptian plover depends on the crocodile for food and
protection.

There will be less food for the plovers got to eat from the
crocodiles as there are fewer Crocodiles. This will cause the plover
population to decrease over time.

Q38

a)

Difference 1 : organism P has a 4-stage hfe cycle While organism Q

'has a 3-stagé life cycle.

Difference 2 : the young of organism P does not resemble the adult
while the young of organism Q resembles its adult.

b} The organism will not be able to get 02 froi{n the surrounding air
as the layer of ofl blocks respiration, "~ ;. |
Ve
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Q39

b}

There is air spaces in between the hair and air is a poor conductor
of heat would not be lost from the body of the animal to the
surrounding as fast.

To reduce the surface area of animal X in contact wish the cold
surrounding so they it would not lose heat faster.

Qa0

- X : Germination

Y : seed dispersal

Flower A. The length of petal is the longest hence will attract
insect to the colourful petal for Insects to be attraced to the sweet
scort of the flower 6 for the pollen grains would be stuck to the
inseas bodys for pollination to occur before going to another
plant.

The pollen grain are carried by the wind and transferred to the
stigma.

Q41

b}

The warmer water vapour in the car would come in contact with
the cooler inner surface of the window and lose heat to condense
anf form water droplets.

Temperature in the car surroundings is the same so there is no
cooler surface for water vapour to lose heat and condense on.

EAD
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